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This question paper contains two parts — A and B.
Part A is compulsory for all.

Part B has two options — Analysis of Financial Statements and
Computerized Accounting.

Attempt only one option of Part B.
All parts of a question should be attempted at one place.

g &
(FTSIE Wt qUT ST o e dEieRT)

PART A
(Accounting for Partnership Firms and Companies)

o fafes 7 © 10 39 & 50,000 TuaT T30 &1 A fmar | afyr =

YT 3 JehR & T o
AEeT W — T 3 gfa 3w
A W — T 2 gfd 3T
o 3T Ifam Ir=FT W — A

45,000 30 % T IATegT U FU qAT GHT HTAGeR! hi I hT ITEA H
feam man | gen, ™ 500 37911 W1 3TTeeA TR T o1, | A9 Ol 319 TR A
YITAH ATeC o THI L {1, Fafeh Prad o 794 300 M W Y| 7R Af<H
ITIAT 1 YA a1 b3l | T iR 3= AT |ime o e Uiy off -

(1) < 2,25,000
() < 2,20,000
(i) < 2,21,000
(iv) < 2,19,500




Nirman Ltd. issued 50,000 equity shares of ¥ 10 each. The amount was
payable as follows :
On application — ¥ 3 per share

On allotment — ¥ 2 per share
On first and final call — The balance

Applications for 45,000 shares were received and shares were allotted to
all the applicants. Pooja, to whom 500 shares were allotted, paid her
entire share money at the time of allotment, whereas Kundan did not pay
the first and final call on his 300 shares. The amount received at the time
of making first and final call was :

(i) % 2,25,000
i) ¥ 220,000
(i) ¥ 2,21,000
(v) ¥ 219,500

2. 33 o BT 1 31 AT | 1

Give the meaning of forfeiture of shares.

3. 3, TS AT GG Th BH < AISER I qAT 5: 3 : 2 o UG H o9 died
9 | 1.4.2014 8 IEN oW SR died 1 Folg forn | 30 seva & forg wd

AT 1 oA T 2,40,000 Toham 7 |

A, TE AT GG b Y WS A H INEdd % RO S
@R % TOTQ STreae UsHmen fafse HIfT | 1

Anant, Gulab and Khushbu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. From 1.4.2014, they decided to share the profits equally.
For this purpose the goodwill of the firm was valued at ¥ 2,40,000.

Pass necessary journal entry for the treatment of goodwill on change in
the profit sharing ratio of Anant, Gulab and Khushbu.

4. el @EER A g W, IGh gog I Ty a6 ®H %k A9 H Iqeh U h
TN fohaT ST 2
(i) YR @Td % 919 H T |
(i)  @9-gIH @ % 1 Wb |
(iii) Y-8 3°d @4 & A hl aH |

(iv) Y-8 39d Qd & 97 shl TF | 1

67/2 3 P.T.O.



67/2

On the death of a partner, his share in the profits of the firm till the date
of his death is transferred to the :

1) Debit of Profit and Loss Account.

(i1) Credit of Profit and Loss Account.

(i11) Debit of Profit and Loss Suspense Account.

(iv) Credit of Profit and Loss Suspense Account.

T, gffar an oFrar T ®H | Areier off 991 5: 3 : 2 % U™ § 1Y Sied!
off | 1.1.2015 I 38 @ % 1/10d 9 % fow ANfiar &1 ws T dEer
SART | AT o T o HHI BH Bl AH-BIH @IaT AW H T 20,000 T IS
g1 @1 o, fEehl % o TEuTe | 3k Y HEWTeH SAg9Td | A, geftar qen
ST o YSit @l o ST § @A S | R @uTd gRI TR TR ohEl Hal
o7 ? 379 I o FHYA H T AT |

Geeta, Sunita and Anita were partners in a firm sharing profits in the

ratio of 5 : 3 : 2. On 1.1.2015 they admitted Yogita as a new partner for
1/10"" share in the profits. On Yogita’s admission, the Profit and Loss

Account of the firm was showing a debit balance of ¥ 20,000 which was
credited by the accountant of the firm to the capital accounts of Geeta,
Sunita and Anita in their profit sharing ratio. Did the accountant give

correct treatment ? Give reason in support of your answer.

greiedl 9@ o 3199 H 92eR & 0 T I {31 1T 2
(i) 8% TNk I T H |

(i) 6% aTfyeh i T H |

(iii)  ohI3 ST &1 feam S |

(iv) 12% aTiteh hl R H |

In the absence of Partnership Deed, interest on loan of a partner is

allowed :

1) at 8% per annum.

(i1) at 6% per annum.

(i11) no interest is allowed.
(iv) at 12% per annum.



7. 9" 9 W fEA W SAfaf Sig @ SEeH Sarse fes foe wfayfa fifiem
T ITANT ThAT ST ekl B | 3

State any three purposes other than ‘issue of bonus shares’ for which
securities premium can be utilized.

8. 1.4.2013 I I QAT e o ITCGUE < gLad! &3 b SR w1 el o
STl 1 FHT S 7q IR BH S99 | 38H U T 10,00,000 el
T 15,00,000 T Yt TMF | ITehT AW FHSH AT 2 : 3 AT QAT ATHERI
@ o ATIR Yol W 12% Tid I8 hl G H &9 ¢F o7 | 31.3.2014 i FHIA
gL aY § BH 4 T 2,00,000 HI ATH HAMAT |
31.3.2014 %! HAT BT oY o [TU I qAT e h1 AW-BTH =i @

IR i | 3

On 1.4.2013, Brij and Nandan entered into partnership to construct

toilets in government girls schools in the remote areas of Uttarakhand.
They contributed capitals of ¥ 10,00,000 and ¥ 15,00,000 respectively.
Their profit sharing ratio was 2 : 3 and interest allowed on capital as
provided in the Partnership Deed was 12% per annum. During the year
ended 31.3.2014, the firm earned a profit of ¥ 2,00,000.

Prepare Profit and Loss Appropriation Account of Brij and Nandan for
the year ended 31.3.2014.

9. Sfem e fafiee’ T 7,00,00,000 HT ARd Yot % |1 GSind 7, S
Z 100 T & 7,00,000 30 H o= 8 | HFHT 4 50,000 30 BT 00 v
fopu U W & fahar w1 foRam oM 2,00,000 39T BT TR SFAT S TR |
Ty 7 T @ 27 oft

3TeEH YT 3EeT W — T 20 fd 3

| IE W — T 50 T 37

a0 qA AW A W - A
guft IreATd AT ot T qun e T8 hadd T % 100 3TN ohl Bige, fFEd
qEl qUT AW AT B WA TG fRA A1 | IWh AW A g1 H o

™0
"7 gt ol HFAA ATAMEE, 1956 I T VI 9T 1 o ITFHR HFa! o el
foaor ® W@ hifvT | @l o Aied Wt dIR A | 3
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‘India Auto Ltd.’ is registered with an authorised capital of ¥ 7,00,00,000
divided into 7,00,000 shares of ¥ 100 each. The company issued

50,000 shares to the vendor for building purchased and 2,00,000 shares
were issued to the public. The amount was payable as follows :
On application and allotment — ¥ 20 per share

On first call — ¥ 50 per share

On second and final call — The balance

All calls were made and were duly received except on 100 shares held by
Rajani, who failed to pay the second and final call. Her shares were
forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the company as per
Schedule VI Part I of the Companies Act, 1956. Also prepare ‘Notes to
Accounts’.

Te sciohe fotfiee’ Sl wracl o fmfar 8 | St & wrad g oo § fafa
fhU STd & | POl 4 BT B W W16 8 &faued gU R "1t W i el
¥ HrEA died 1 ol foren | 389 39 Tifai W6 100 FiSEH b fuee yew
& Tl T TG 319 ¥ HREH § ikl | @ w1 ot Fei foen | e
HREHT T & I fam &t sTmaweshal &l @0 % 7g FF! 5 T 10 TA6 &
50,000 TUAT 3_M 9T T 100 A% & 2,000, 8% FUGA T THIEA
T 7,00,000 | H3 I TS TR & Tosharet =1 fomam |

HIOHT I AR H IUYTH el o foTT Aawdes Usrg=n fafseat Hifsme |
HIOH g THS 1 FUYa fohu S aret fopeft weh e shl wgem oft il |

‘Good Blankets Ltd.” are the manufacturers of woollen blankets. Blankets
of the company are exported to many countries. The company decided to
distribute blankets free of cost to five villages of Kashmir Valley
destroyed by the recent floods. It also decided to employ 100 young
persons from these villages in their newly established factory at Solan in
Himachal Pradesh. To meet the requirements of funds for starting its
new factory, the company issued 50,000 equity shares of ¥ 10 each and
2,000 8% debentures of ¥ 100 each to the vendors of machinery
purchased for ¥ 7,00,000.

Pass necessary journal entries for the above transactions in the books of

the company. Also identify any one value which the company wants to
communicate to the society.
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®, @ 997 7T 1 31919, 2014 i feafa fawor fr= yor o -

T T

fafery Ser 4,500 | Tehg & 300
gfea ff 4,800 | S H Uhg 7,500
Foft @ ik 9,000
% 15,000 IER 9,000
EC| 7,500 =R 12,000

T 7,500 30,000 | 3R 1,500
39,300 39,300

30 54, 2014 S T 1 <@ & T | HEER] @ hHl 6@l b IER A
TTGR o fsaTgeni o f < o :

()

(@)

()

(%)

TTIER % Yol @WTd T =T 99 |
ISt W 6% Uid 9% i T F =W |

td § Aw, [Eehl T fsd 9 9wl % A % g o STUR W H
STt |

s foia a1 gwifed & I8eh! gog hi Tl 9 @9 § ITH1 9T,
foreeh T fUsa 9 & @ & aR W St | fUsd 9 st %

o
SIERCI= R E O

T NIk
T
2011 — 2012 9,000
2012 — 2013 10,500
2013 — 2014 12,000

®H 94 @I Uid 99 31 HE ol o Hdl g | ATEER O Yol o A |

o dfed o |

T o TSITEER! I TG B b TTC IR ISl WA TR R |
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The following is the Balance Sheet of A, B and C as on 31th March, 2014.

Liabilities Amount | A ccets Amount
Sundry Creditors 4,500 | Cash in hand 300
Reserve Fund 4,800 | Cash at bank 7,500
Capital Accounts : Stock 9,000
A 15,000 Debtors 9,000
B 7,500 Furniture 12,000
C 7,500 30,000 | Tools 1,500
39,300 39,300

‘C’ died on 30" June, 2014. Under the terms of Partnership Deed, the
executors of the deceased partner were entitled to :

(a)  Amount standing to the credit of partner’s capital account.
(b)  Interest on capital @ 6% per annum.

(c) Share of goodwill on the basis of twice the average of past three
years profits.

(d)  Share of profit from the closing of last financial year to the date of
death on the basis of last year’s profit. The profits of the last three
years were as follows :

Year Profit
4
2011 — 2012 9,000
2012 - 2013 10,500
2013 - 2014 12,000

The firm closes its books on 31" March every year. The partners shared
profits in the ratio of their capitals.

Prepare C’s Capital Account to be presented to his executors.



12. 39, 9 a1 o ue wd § "eier o | 3R TRl gt oft SW T 2,00,000;
T T 3,00,000 q€T FS=1 T 5,00,000 | 3 79 GSHt o AU H A Sied o |
%H 1 G I & o falte wr @ @ & fau daw Yt Y fosht = e
et afeama STaR WX 99, 9H, qn fS Yoy wd 9 | Y9 g geY T
S aren e g 9 dur R g gey fhu W 9t T gl @ s
EET BTG A1 | I | 9 a9 en @ @ # eafeek wi o foaw sty e
58 v den e 3 w&fer & o | 38 fol fomn men T T @ weveH
I 2 : 1 : 2 B a1 39 fUeel IR aul | w9E ¥ o Sen | fiee 9n
Tyl @ @9 HET: T 2,00,000; T 3,50,000; T 4,75,000 AT T 5,25,000 ¥ |

A OIS 1 FE TR H S g¢ Y9, T o T % offe 8 wHeid @l
YTl S & foe strawes gareH gfafsee Hifsa | 4

Prem, Param and Priya were partners in a firm. Their fixed capitals were
Prem ¥ 2,00,000; Param ¥ 3,00,000 and Priya ¥ 5,00,000. They were
sharing profits in the ratio of their capitals. The firm was engaged in the
sale of ready-to-eat food packets at three different locations in the city,
each being managed by Prem, Param and Priya. The outlet managed by
Prem was doing more business than the outlets managed by Param and
Priya. Prem requested Param and Priya for a higher share in the profits
of the firm which Param and Priya accepted. It was decided that the new
profit sharing ratio will be 2 : 1 : 2 and its effect will be introduced

retrospectively for the last four years. The profits of the last four years
were T 2,00,000; T 3,50,000; T 4,75,000 and T 5,25,000 respectively.

Showing your calculations clearly, pass a necessary adjustment entry to

give effect to the new agreement between Prem, Param and Priya.
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‘o= fafiee’ i sifed ot = 10,00,00,000 off ST T 100 TE® *
10,00,000 THaT 379 # fawee oft | st 7 2,00,000 37T @ iR uRe &
& feam on | 31.3.2007 1 wHI gT AN * foTC wEl 4 T 30 i I
AT fer | hraet geEH 9 hEae o IcUTel ohl 3TShIShT o <Xl H fATd i <Rl
fota o | sfafes fod <l sTeashaladl ol YU i o foTT o] o ot
Jaueh 4 e aved & gue e i ey g W

(i) T 100 Ifd 3731 & FfEEE W 47,500 THAT 37900 T FFEA |

(ii) s U SEihIe 0T TR ST ST 12% Ui 99 o &A1 W 39Asd o |
(iii) 9% UG T 5% o S W AT feram S |

Tt foshedl o1 Yo B o UEETq 1.4.2008 HI HFH J1,00,000, 9%
FRorqs Fifa e o1 foia form | S o 1 3Afehd oI T 100 o | 3
ROTGEAT ST SN TTE I o 3T & IYE Hleh IR fohvdl H FH TR & HET
q1 .

EL Tty

>
I1I 10,00,000
IV 20,00,000
\Y% 30,00,000
VI 40,00,000

1.4.2008 & IE Hh I b Tt FOG BT WET H T A, 9% FoTa
QAT dIr HIfSU |

‘Ananya Ltd.” had an authorized capital of ¥ 10,00,00,000 divided into
10,00,000 equity shares of ¥ 100 each. The company had already issued
2,00,000 shares. The dividend paid per share for the year ended
31.3.2007 was ¥ 30. The management decided to export its products to
African countries. To meet the requirements of additional funds, the
finance manager put up the following three alternate proposals before the
Board of Directors :

1) Issue 47,500 equity shares at a premium of ¥ 100 per share.

(i1))  Obtain a long-term loan from bank which was available at 12% per

annum.

(111)) Issue 9% debentures at a discount of 5%.

After evaluating these alternatives the company decided to issue
1,00,000, 9% debentures on 1.4.2008. The face value of each debenture

10



was ¥ 100. These debentures were redeemable in four instalments
starting from the end of third year, which was as follows :

Year Amount
<

111 10,00,000

v 20,00,000

A% 30,00,000

VI 40,00,000
Prepare 9% debenture account from 1.4.2008 till all the debentures were
redeemed.

14. T, e qT HIe WEER ¥ qA 3 ;2 : 1 h UM H A Hed o |
1.3.2015 I ITeh! HH 1 faged &1 T | giEsdtdl o 9= fean T qen
CIATST T T L TG T | @ A St @rdl, "Teieii < 4ei @rd qel
g WA dIR foharT, T=g 39 @ral § $© URET I Gt SET a T |
319 = fdu e @i § F@a6l R S @d e e 90 hivT |

e wa
qm ST
fafae ot gad RO < T Jae™ 1,000
et 10,000 fafay der 15,000
ih 21,000 ST 1 R0 13,000
TR 20,000 O qYT TR J= 1,200
qeen W 400 s - ’Em
fosa
few 3,000 54,400 e 8,000
HTAT 1 Yol @ .
S 13,000 Wi 14,000
Uhg — THGRI ol YTAH 15,000 ek 16,000 38,000
Uhg — TGN Tt w1 5,000 AT 1 St @rar — fa 2,000
IR}
Uhs — =4 800 | e |
88,200 88,200
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s T
e | A | e HTAT e | T
foraon foraron
=3 =3 T =3 =3 =3
THs | 12,000 | 9,000 BETS 1,000
23,000 | 15,000 | 3,000 23,000 | 15,000 | 3,000
Tehe @Al
E1t] ST
T Tfst
Toramor - EELU -
I QAT — TR
M
Y 1 2,800 A —— 15,000
TS G — e 38,000 | 3FTeRd foat 5,000
ICEX
SHIAT T Yoit @ 1,000 | e |,
HTEAT 1 Yol Qe 12,000
e =1 4ot @ 9,000
41,800 41,800
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Mala, Neela and Kala were partners sharing profits in the ratio of
3:2:1. On 1.3.2015 their firm was dissolved. The assets were realized

and liabilities were paid off. The accountant prepared Realisation

Account, Partners’ Capital Accounts and Cash Account, but forgot to post

few amounts in these accounts.

You are required to complete these below given accounts by posting

correct amounts.

Realisation Account

P.T.O.

Dr. Cr.
Particulars Am;unt Particulars Am;unt
To Sundry Assets : By Provision for bad 1,000

debts ’
Machinery 10,000 By Sundry Creditors 15,000
Stock 21,000 By Sheela’s Loan 13,000
Debtors 20,000 By Repairs and 1,200
Renewals Reserve ’
Prepaid Insurance 400 By Cash — Assets sold :
I t t 3,000
fvestrients - 54,400 Machinery 8,000
la’ ital
To Mala’s Capital Alc 13,000 Stock 14,000
— Sheela’s Loan
To Cash — Creditors paid 15,000 Debtors 16,000 38,000
To Cash — Dishonoured bill 5.000 By Mala’s Capital - 2.000
id ’ Investments ’
pai
To Cash — Expenses 800 | s .
88,200 88,200
67/2 13




Capital Accounts

Dr. Cr.
Particulars Mala | Neela | Kala Particulars Mala | Neela Kala
< < < < < <
To Cash | 12,000 | 9,000 By Cash 1,000
23,000 | 15,000 | 3,000 23,000 | 15,000 | 3,000
Cash Account
Dr. Cr.
Particulars Am;unt Particulars Am;unt
B lisati
To Balance b/d o goo | DY Realisation /e
’ — Creditors paid ’
T lisati
0 Realisation Afc 38,000 | By Dishonoured bill 5,000
— Sale of assets
To Kala’s Capital A/c 1,000 | e e,
By Mala’s Capital A/c 12,000
By Neela’s Capital A/c 9,000
41,800 41,800
15.  1.1.2008 =h! 32T dT Hi¥A 4 HAM: T 7,00,000 94T T 3,00,000 hH T

IS € T AR BH S | TS HaH™ =ell |© 9 99T IHhT IR R
IrEd o T S 1 HHT ok PR AT TEl B AR I | I, AT Yol
fw 3=/ 1.1.2010 =1 Mfee ! Teh T3 HEEK & &9 § BH T Ja37 HAT |
e T 10,00,000 T ISt AR TAT ITeh S T TN FEHSH I
3:2:5 T g | 1.1.2012 = T 8,00,000 YT & &Y &9 H 1/10 9 ¥ %
fu 38 Bl B TH T HERR % ®Y H B § J9W AT S SEY 39,
HITA AT Mae T TAR-IUSL Ied fha1 | 1.4.2014 i TMifde 1 <8 &

TRIT 9T 35k ATH 1 {TT 3T 4T 74 g Se-sel o foram = |
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AT HITT,

(i) oG o JAS W 3IGT QAT HIIA T AN A |

(i) B & TN W 3T, HITA, Mideg adqT g HT T AT TWISH FITA |
(iii)  Tfag 31 Hog W 3¢, IV a1 & 1 T W TgWSH I | 6
On 1.1.2008, Uday and Kaushal entered into partnership with fixed
capitals of ¥ 7,00,000 and ¥ 3,00,000 respectively. They were doing good
business and were interested in its expansion but could not do the same
because of lack of capital. Therefore, to have more capital, they admitted
Govind as a new partner on 1.1.2010. Govind brought ¥ 10,00,000 as
capital and the new profit sharing ratio decided was 3 : 2: 5. On 1.1.2012,
another new partner Hari was admitted with a capital of ¥ 8,00,000 for
1/10"" share in the profits, which he acquired equally from Uday,
Kaushal and Govind. On 1.4.2014 Govind died and his share was taken
over by Uday and Hari equally.

Calculate :

(1) The sacrificing ratio of Uday and Kaushal on Govind’s admission.

(i1)) New profit sharing ratio of Uday, Kaushal, Govind and Hari on
Hari’s admission.

(iii) New profit sharing ratio of Uday, Kaushal and Hari on Govind’s
death.

16. T fafds’ 9 T 100 I¥% % 10,000 THAT M I T 100 Afd 37N &
Hiftrm v fffid @ & fow steed smwf=d foew | afyn f geer @ 2 o
JATAGH QAT ATE W — T 100 Ui 37 (T 50 Hifw afza)
T qUT 3" Ir=HT W — oS
e qof &9 @ sifyea & ™ | TH vrawe, [ 98 500 T o, | Ol
3T TR T YITAH IMeIed < d19 R QT | Th 31 A9geh, fdeh 9@ 200
I A, 7 TAW qAT IAfqH AT URT T PTae T fRAT | Ik 7MW BT FL
T o | g fohw U STE T T 19,000 § Ut Wew uA: fRifia e femm
T |

STYTH TG oh T ShFOHT hi JEdeh] H STTEReeh UsHMET Yfafsedt i | 8
HAAAT

‘arg fafee’ 3 T 10 I8 & 15,000 F9AT 3730 bl G s o g 3maes
mf=d fobe o @ = 6 i 3rsr oim = on, S e JeR A 9T 9

& W — T 2 gfd 37w

A W — T 1 i 3T

JIH IMEET W — T 3 Tfd 379
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e qui &9 | tfiga g1 qen Ui e Jehm | uTed 8%

10,000 373 W — T 6 U 37

3,000 M W — T3 ufa AW

2,000 WM | — T 273 A7
TGl 9 39 IR0 1 0T L forn 5 @ < 6 Ufd 3191 | 7 9T BT A | |
fopu T 31t B T 9 U 37w, T 6 Ui 3191 Yed W uA: fifia o feam |

I9YTh TGl oh 1T SHFIHT Shi JEdehi H TTTTIh USHHT Fafseat shifg |

X Ltd.” invited applications for issuing 10,000 equity shares of ¥ 100 each
at a premium of ¥ 100 per share. The amount was payable as follows :

On application and allotment — ¥ 100 per share (including
T 50 premium)
On first and final call — The balance

The issue was fully subscribed. A shareholder holding 500 shares paid
the full share money with application. Another shareholder holding
200 shares failed to pay the first and final call money. His shares were
forfeited. The forfeited shares were re-issued for ¥ 19,000 as fully paid
up.

Pass necessary journal entries for the above transactions in the books of

the company.
OR

Y Ltd.” invited applications for issuing 15,000 equity shares of ¥ 10 each
on which ¥ 6 per share were called up, which were payable as follows :
On application — ¥ 2 per share
On allotment — ¥ 1 per share
On first call — ¥ 3 per share
The issue was fully subscribed and the amount was received as follows :
On 10,000 shares — ¥ 6 per share
On 3,000 shares — ¥ 3 per share
On 2,000 shares — ¥ 2 per share

The directors forfeited those shares on which less than ¥ 6 per share
were received. The forfeited shares were re-issued at ¥ 9 per share, as
< 6 per share paid up.

Pass necessary journal entries for the above transactions in the books of
the company.

16



3T, Y q1 SNf~d Teh HH H HEIGR & GAT 3 : 2 : 19 U § @19 dfed 9 |
1 319, 2014 i 3ehT Tefq foeror i YR & o

IS @ o qon wa| 3,64,000
g 3,58,000 I aur uefi= 2,95,000
piE| 3,00,000 Brler 2,33,000
= 2,62,000 9,20,000 | I forct 38,000

T G 48,000 | fafaer Tew 90,000

G 1,60,000 | ¥ 1,11,000

2 foa 90,000 | S 87,000

12,18,000 12,18,000

I fafer =t f= 31t W gIHH 1 T F31 AISIER SR T4 ¢

(i) 98 I 9 % AU = 1,00,000 ATCH qT W H IR A 1/10
BT |

(i) o8 Tfd Nfem & 3199 9 & foiu efewees ufst e | wH h
T Yo T 3,00,000 TR T |

(i) §% W YA TC 9T fo@t @ T T 18,000 hT Teh <A1 SHTE ST |

(iv) ¥<ieh qT Heilek & Hqod &l 20% & T AW |

(v) 9 qe Wad & qod &l 10% & S-S |

(vi) HETEIERI % Yot @Al 1 THESH A i 9ol IR W 3T AT
FEHTSH TUTd § 1] W Wikt fohal SITa |

e @TAT A1 ATEER < Yol @Td IR g | 8

YT
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SIfeRR, g% a1 99 Toh BH U ATSIER 9 TAT 4 : 3 : 2 & UM H oY Sied
9 | 1.4.2014 Wi 3ehT fedrfa faawo 7 wohR & o

fafay der 41,400 | S T Uhg 33,000

gt @ ¢ fafaw g1qR 30,450
o : A HOI

SR 1,20,000 faw ym@am 1,050 99,400

Iq% 90,000 Tih 48,000

ST 60,000 2,70,000 | T qAT AL 51,000

offf qen wad 1,50,000

3,11,400 3,11,400

qE TS e | difed of, 37a: 38 B4 TR o+ H AT T |
1.4.2014 1 T Fweital ga1, el wrd 1 wepr 4 of .

(i) " e Wad & oI H 10% 9 TR A |
(i) g oM & foTT Yae™ 6 TG AGwIHal 18 & |

(iii) T 1 oI 20% | TSR T |

(iv) ®H I B 1 Jed T 54,000 T TR 731 | 36H & JGH o W
SRR qem S o Uit @rdl § FHEING TRl ST@T | 3R el AT
HEYTSH 3T 2:1 8 |

(v) % s TS BH okl el §Sft 39 a8 W A Rt sl e T g
SITSRR T S o T3 ATH FEHISH 14T H 81 | 38 Ty 3Taweh g
AT ST AT T JAT |

Qe @1 AT |TEGRT 9 Yot @Td dar) i |
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Om, Ram and Shanti were partners in a firm sharing profits in the ratio
of 3:2: 1. On 1% April, 2014 their Balance Sheet was as follows :

Liabilities AmOunt | A qsets Amount
Capital Accounts : Land and Building 3,64,000
Om 3,58,000 Plant and Machinery | 2,95,000
Ram 3,00,000 Furniture 2,33,000
Shanti 2.62,000 9,20,000 | Bills Receivables 38,000
General Reserve 48,000 | Sundry Debtors 90,000
Creditors 1,60,000 | Stock 1,11,000
Bills Payable 90,000 | Bank 87,000
12,18,000 12,18,000

On the above date Hanuman was admitted on the following terms :

(1) He will bring ¥ 1,00,000 for his capital and will get 1/10™" share in

the profits.

(ii)) He will bring necessary cash for his share of goodwill premium.
The goodwill of the firm was valued at ¥ 3,00,000.

(iii)
discounted.

(iv)

A liability of ¥ 18,000 will be created against bills receivables

The value of stock and furniture will be reduced by 20%.

(v)  The value of land and building will be increased by 10%.

(vi)

Capital accounts of the partners will be adjusted on the basis of
Hanuman’s capital in their profit sharing ratio by opening current
accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR
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Xavier, Yusuf and Zaman were partners in a firm sharing profits in the

ratioof 4 : 3 : 2. On 1.4.2014 their Balance Sheet was as follows :

Liabilities Amount | 4 ccets Amount

Sundry Creditors 41,400 | Cash at Bank 33,000
Capital Accounts : Sundry Debtors 30,450

Less : Provision for

Xavier 1,20,000 Bad Debts 1,050 29’400

Yusuf 90,000 Stock 48,000

Zaman 60,000 | 2,70,000 | © 1ant and Machinery 51,000

Land and Building 1,50,000

3,11,400 3,11,400

67/2

Yusuf had been suffering from ill health and thus gave notice of

retirement from the firm. An agreement was, therefore, entered into as

on 1.4.2014, the terms of which were as follows :

1) That land and building be appreciated by 10%.

(i)  The provision for bad debts is no longer necessary.

(iii) That stock be appreciated by 20%.

(iv)  That goodwill of the firm be fixed at ¥ 54,000. Yusuf’s share of the
same be adjusted into Xavier’s and Zaman’s Capital Accounts, who

are going to share future profits in the ratio of 2 : 1.

(v)  The entire capital of the newly constituted firm be readjusted by

bringing in or paying necessary cash so that the future capitals of

Xavier and Zaman will be in their profit sharing ratio.

Prepare Revaluation Account and Partners’ Capital Accounts.

20
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19.
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67/2

T s @
(Tor<fiar fereromt =t fergeraon)
PART B

(Analysis of Financial Statements)
Teh ST AT GRI HUETET Sl S99 1 PTaE f=faied § @ o ger &
Tfafafer g 2

(i)  Trameramy wifafafer |

i) oo wifafafer |

(i) o wifafafy |

(iv) Torameram wa faxfia gt wifafafer |

Amongst the following, ‘Payment of bonus to the employees’ by an
insurance company is which type of activity ?

(1) Operating activity.

(ii) Investing activity.

(iii) Financing activity.

(iv)  Both operating and financing activity.

Uohg JaT8 foaior AR i 999 Ueh fodiiT ot ‘w1 fafiees’ & ogure 3

‘RO I UTd &I R Tt wifafafem | aftafaa s form | = e @ §
98 Hal o1 ? R ST |

While preparing Cash Flow Statement, the accountant of ‘Rachana Ltd.’,
a financing company, included ‘Interest received on loan’ in financing
activities. Was he correct in doing so ? Give reason.

HEOT ATUEH, 1956 1 Gt VI 9T 1 o6 ITFER HFa o el foawo & =
HGi ! Tohr-Tohd G SMSeh qT IU-3Mehi o ST=rTd RIS AT :

i =% F |

(i)  HE-FIfA-TR T Wi |

(i) TS |

(iv) U AN |

(v) 5d U o fole J&eme |

(vi) 9-gT forewor gry et T SRoTTeneh 99 |

(vii) g |

(viii) 3T ATH |
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22,

67/2

Under which major headings and sub-headings will the following items
be shown in the Balance Sheet of a company as per Schedule VI Part I of
the Companies Act, 1956 :

) Cheques in hand.

(ii) Stock of work-in-progress.

(1i1) Copyrights.

(iv) Loose tools.

(v) Provision for bad debts.

(vi) Negative balance shown by the Statement of Profit and Loss.

(vii) Bonds.

(viii)  Unpaid dividend.

T O] 1 9] AT 2:1: 1-28 | RO od gY Famsy fob Frfaf
T g TIITA I, T AT 3T his TN T8l I

(i) T 1,00,000% 9% RIS T MEA 10% o Sty X foma |

(i) <del § T 17,000 9red fohu |
(iii) TFH o fashareti 1 T 2,00,000 % THAT 379N 1 AT foham |
(iv) oFerl g forg M = 7,000 & fafme 93 wfier fFu |

The Current Ratio of a company is 2:1 : 1-2. State with reasons which of
the following transactions will increase, decrease or not change the ratio :

1) Redeemed 9% debentures of ¥ 1,00,000 at a premium of 10%.
(i1)  Received from debtors ¥ 17,000.

(iii) Issued T 2,00,000 equity shares to the vendors of machinery.
(iv)  Accepted bills of exchange drawn by the creditors ¥ 7,000.

HH AN W SN caisli ol 3Icdled i ardl wrdl wmt fafies @
Y- T URd B | 3Eh YSHeH qAT hHAR! Heddl, SHMER qu
AMURG & | 81.3.2014 ! U §Y 99 § HEOA 1 g @19 AT & T4 |
I fSuTeT | IcETfed Rl 9 ofqd weft T i fUse a¥ #i gorr |
T @ ° 99" ¢ o i foRa |

31.3.2013 AT 31.3.2014 ! T §C AW o [T FHFHT 1 JATCHE ATH-RTH

faam A R 9 2

d el

wt forfies
AR TATH-TH ferawon
e | 2012 — 13| 2013 — 14 e %
e i qferaH
e 3 T qfedd =
HRIhATl § I 20,00,000 | 30,00,000 | 10,00,000 50
el — HHAN fEaeny =39 12,00,000 | 14,00,000 |  2,00,000 | 16-67
I AW 8,00,000 | 16,00,000 |  8,00,000 | 100
F25% H T A 2,00,000 | 4,00,000| 2,00,000| 100
T TG AT 6,00,000 | 12,00,000 |  6,00,000 | 100
22




67/2

(i) 31 W, 2013 9= 2014 ! GATA Y I 6 (U Yg A9 U hl

oMt iR |
(i) Trdl Q@ geat i ggEH Hif, foe wmi fafiee’ yeifa s =mEd
2 | 4
The motto of ‘Pharma Ltd.”, a company engaged in the manufacturing of
low-cost generic medicines, is ‘Healthy India’. Its management and
employees are hardworking, honest and motivated. The net profit of the
company doubled during the year ended 31.3.2014. Encouraged by its
performance, the company decided to pay bonus to all employees at
double the rate than last year.
Following is the Comparative Statement of Profit and Loss of the
company for the years ended 31.3.2013 and 31.3.2014.
Pharma Ltd.
Comparative Statement of Profit and Loss
. Note 2012 — 13 2018 — 14 Absolute Yo
Particulars No. T T Change < Change
Revenue from 20,00,000 | 30,00,000 | 10,00,000 | 50
operations
Less Employees
: 12,00,000 | 14,00,000 2,00,000 16-67
benefit expenses
Profit before tax 8,00,000 | 16,00,000 8,00,000 100
Tax at 25% rate 2,00,000 4,00,000 2,00,000 100
Profit after tax 6,00,000 | 12,00,000 6,00,000 100
) Calculate Net Profit Ratio for the years ending 31" March, 2013
and 2014.
(i1)  Identify any two values which ‘Pharma Ltd.’ is trying to propagate.
23 P.T.O.



23. 31.3.2014 %! Gk i) Tafiee =1 feafa faawm v @ 2

HeR uter forfues
feafa o
31.3.2014 | 31.3.2013
TeraTom T T
I — QUdT 9T ¢IaT :
1. | swremdr Ao .
(1) ofer gt 24,00,000 | 22,00,000
(9) @== T A 6,00,000 |  4,00,000
2. am?'ré'ami
FPEANIE kA 4,80,000 |  3,40,000
3. Wﬁﬁtﬁnﬁ
(37) AT CIATd 3,58,000 |  4,08,000
CIRSECSIERIERIE] 1,00,000 |  1,54,000
$A 39,38,000 | 35,02,000
II - gttt
1. | 3T=reT gt
(31) woTe ufEratEt
(i) qd 21,40,000 | 17,00,000
(i) 3T 80,000 |  2,24,000
2. | AT T:
(37) ey fem 4,80,000 |  3,00,000
() % (ATerE) 2,58,000 |  2,42,000
(|) AT Tfeaat 3,40,000 |  2,86,000
(3) Uhs TAT Uhg Jod 6,40,000 7,50,000
K3yl 39,38,000 | 35,02,000
67/2 24
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T & e

2—6 g 31,3,2?014@ 31.3.2;)13 el
1 | 99d Ud AT
iRy (AT9-gTH foraor =1 3iw) 6,00,000 4,00,000
| * 25,40,000 20,00,000
S 400000 | (300,000)
T : Ush[Ad HodglA
3 | erd ufwmratat
iy 80,000 2,24,000
STfarE T :

9 H Th W0 R AFa T 48,000 off A NE W THHA Hous™

T 32,000 T sl T 12,000 H &9 fegm mm |

Uohg JaTg forawor G Hhifvy |

25
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Following is the Balance Sheet of Solar Power Ltd. as at 31.3.2014 :

Solar Power Ltd.
Balance Sheet
Note | 31.3.2014 31.3.2013
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 24,00,000 22,00,000
(b) Reserves and Surplus 1 6,00,000 4,00,000
2. | Non-Current Liabilities :
Long-Term Borrowings 4,80,000 3,40,000
3. | Current Liabilities :
(a) Trade Payables 3,568,000 4,08,000
(b) Short-Term Provisions 1,00,000 1,54,000
Total 39,38,000 35,02,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible 21,40,000 17,00,000
(ii) Intangible 80,000 2,24,000
2. | Current Assets :
(a) Current Investments 4,80,000 3,00,000
(b) Inventories 2,58,000 2,42,000
(c) Trade Receivables 3,40,000 2,86,000
(d) Cash and Cash equivalents 6,40,000 7,50,000
Total 39,38,000 35,02,000

67/2
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Notes to Accounts

Goodwill

As on As on
S.No. | Particulars 31.3.2014 | 31.3.2013
< <
1. | Reserves and Surplus
Surplus (balance in Statement of 6,00,000 | 4,00,000
Profit and Loss)
2. | Tangible Assets 25,40,000 | 20,00,000
Machinery
Less : Accumulated Depreciation (4,00,000) | (3,00,000)
3. | Intangible Assets 80,000 | 2,24,000

Additional Information :

During the year a piece of machinery costing ¥ 48,000 on which

accumulated depreciation was ¥ 32,000 was sold for ¥ 12,000.

Prepare Cash Flow Statement.
Qs @

(erferaRfcr wraTen)
PART B

(Computerized Accounting)

3SCH o AT TF-Y o ITAN o [oTC TYth HH Hlegd i had ¢

(1) Pl blegd |
(i) 39 Hleed |
(i) 9HE Hlegd |
(iv) §g® Hhlegd |

The common fields used in a relationship between tables are called :

) Key fields.

(i1)  Table fields.
(iii) Main fields.
(iv)  Joint fields.

27




19.

20.

21.

22,

23.

67/2

el SHa & foiw ‘wa. A qen 8 fogt W vy & fou ‘wodemem)
fafafea § 9 foreeh semeTw § 2

(i) WIS (scAieh) HIgH |

(i) Tfd HEEh (FHIHS) P |

(iii) TR (i) Hid |

(iv) <T@ higd |

‘SJ’ for sales journal and ‘NDRS’ for New Delhi railway station are the
examples of which of the following ?

(1) Block codes.

(i1) Mnemonic codes.

(iii) Sequential codes.

(iv)  Accounting codes.

‘DA wm. w1 F G B 2 39% bl o ATHI I THSATST |
What is meant by ‘DBMS’ ? Explain any two of its advantages.

TT% /=TS ST STANT T o Tohegl gl ATl <hl HHSIST |

Explain any two advantages of using graphs/charts.

1] -9 ATy o fAT i i MO B FHI IH H W W AT
el 1 3ge HIT |

State the elements which are considered while calculating ‘deductions’ for
current payroll period.

39 AYfg hl T8 HINT T Tk Hexfie | 39 77 @ ot 8 99 &
Tra-g d9Y T8l siaT | 39 ITfg Sl g B b =N 1 Hf Ig@ HiNT |

Identify the error that appears on a spreadsheet when a cell reference is
not valid. Also state the steps to correct that error.
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